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1.  
Which one of the following statements is true?
a. If Purchasing Power Parity (PPP) holds, then so does the Law of One Price (LOP) for all goods in the price index

b. If the Law of One Price (LOP) holds for all goods in the price index, then so does Purchasing Power Parity (PPP)

c. If two national aggregate price levels are equal when converted to a common currency, then the Law of One Price (LOP) holds for all goods in the price index

d. All of the above are true

e. None of the above are true

2. 
Consider a market basket consisting of a hamburger and an order of fries. In Mexico, a hamburger costs  PESO 20 and an order of fries costs PESO 10.  In the US, a hamburger costs $2.50 and an order of fries costs $1.00. Given this market basket, what is the purchasing power parity (PPP) exchange rate of the dollar in PESO (approximate if necessary)?

e. 0.86

e. 0.12 

e. 8.57

e. 10.5

e. 14.7

3. 
Consider the implied purchasing power parity of the dollar in the hamburger and fries question. Suppose that the exchange rate of the dollar in PESO is 10. Given the implied PPP of the dollar as the standard, is the PESO overvalued or undervalued?

4.
According to the course, exchange rates tend toward purchasing power parity at what rate per year?

q. 10

q. 15

q. 20

q. 25

q. 30
5. 
Suppose that a Ford Mondeo sells for (15,000 in Spain.( ( stands for Euro). Suppose that the law of one price (LOP) holds.

If the exchange rate of the Euro in British Pounds is 0.6, what should be the price of a Ford Mondeo in British Pounds?

If the exchange rate of the Euro in Brazil Reals is 3.8, what should be the price of a Ford Mondeo in Brazil Reals?

6.
The U.S. government has placed tariffs on imported steel. The world price of steel is equal to $300 per ton and the U.S. tariff on steel is 25%. The cost of inputs used to make steel includes labor $100, energy $70, and raw materials, $80. What is the effective rate of protection for the U.S. steel industry?


a.
20%


b.
25%


c.
66%


d.
150%


e.
200%

7.  
The following table shows the productivity of one unit of labor in producing sweaters and bicycles in England and in France.

Sweaters


Bicycles
England
   5



  7
France

 15



28
This information can be used to determine what is the effect of shifting one unit of labor from the production of sweaters to bicycles or vice versa in England and in France.  Based on the information provided by the table, which of the following is correct?

A. England has a comparative advantage in sweaters and bicycles

A. France has a comparative advantage in sweaters and bicycles

A. England has a comparative advantage in sweaters and France has a comparative advantage in bicycles

A. England has a comparative advantage in bicycles and France has a comparative advantage in sweaters

A. None of the above

8.
Based on the information in the preceding question, what type of trade pattern would you expect?

a. England would export bicycles and import sweaters

a. England would export sweaters and import bicycles

a. England would export both bicycles and sweaters

a. England would import both bicycles and sweaters

a. The two countries would not trade with each other

9.  
Acme Electronics must decide whether to serve customers in Country A or Country X.  The company can charge customers in Country A have $350 for Acme(s product while it can charge customers in Country X $250 for Acme(s product. Acme will have the same sourcing costs of $50 whether it chooses to serve Country A or Country X.  Country A is farther away, so there are transportation costs of $60 to Country A and $30 to Country X.  The transaction costs of doing business in Country A are $40 in Country A and $20 in Country X. Finally, importing requires a per-unit tariff of  $70 in Country A and $60 in Country X.  Which country should be Acme(s target market?
10.
The following table shows the productivity of one unit of labor in computers and auto parts in Brazil and in the US.

Computers



Auto parts
Brazil

18




   24


US

54




   32
Suppose that Brazil exports auto parts to the US and imports computers from the US.  This is consistent with which one of the following wage rates?

a. The wage rate in Brazil equals 40 and the wage rate in the US equals 40
a. The wage rate in Brazil equals 40 and the wage rate in the US equals 20

a. The wage rate in Brazil equals 60 and the wage rate in the US equals 20

a. The wage rate in Brazil equals 10 and the wage rate in the US equals 40

a. The wage rate in Brazil equals 20 and the wage rate in the US equals 40
11.
Labor requirements for goods 1 to 5 in Country A and in Country B are as follows
          gA1 = 15            gA2 =  4                 gA3 =  12               gA4 =   8             gA5 =  16
          gB1 =  5             gB2 =   8                gB3 =    18             gB4 =    24          gB5 =  4

The wage in Country A is WA = 175 and the wage in Country B is WB = 100.

With international trade, what goods are produced in Country A and what goods are produced in Country B without costs of trade?
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